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I V-1 8 S BUEL A A( )
A. x#1 B. x=1 C. x>1 D. x=0

2. T2ZXF, BiraL( )
A (=V 3)2=3 B. —v/32=-3 C. (V3)%=3 D. VvV (-3)2=-3

3. WiEV27T+V 48 a9 4 F & ( )
A -V 3 B. v -21 C. V2 D. 7V 3

4. ]ﬁ] *“fh#&i&\/ 14_77 : fﬂ%ﬁ( )
A. O B. 3.14-m C. 7m3.14 D. 0.1

5. THNEMEN AREAIA( )
A. 6, 12, 13 B. 3, 4, 7 C. 8, 15, 16 D. 5, 12, 13

6. ERINABCY, £C=90°, BC=12. AC=16, WABW¥ H( )
A. 26 B. 18 C. 20 D. 21

7. ZFRZAMOIEKALZ, KAKA10, KA EEZHH( )
A. 6 B. 7 C. 9 D. 12

8. -FIWAMABCDY, ZLA: £LB: £C=2: 3: 2, W «4£D=( )
A. 36° B. 108° C. 72° D. 60°

9. LH—/NE MR KA20cm, MFITAXRGLES: 3, MIEANZHOBMRE( )
A, 12em? B. 24cm? C. 48cm? D. 96¢m?

10. F2)& T4/ 6950k, EAHEGZ( )
A, Xt A & AR 69 9L TS R 4E A
B. 3t & EAD-F 40991 S A& 4B
C. #E/M0y3T AR B4R A H-F5
D. #EF693F A & A8 5 LB 40-F 2

1/4



=, RZA (FXKANAE, HF)AAy, £24%) DS E
11. E4rm=2+V 2 , n=2-v12 oM ARE X2 2mn+nl 98 A

12. &g —N=AHe =AM 26cm 8cm~ 10cm, N iXA= @ F 69 & F2 2

13. AABCY¥, ZC=90°, a=8, c¢=10, N|b=

14, #+HV 27—\/%:

15. 4B, £FITEAHABCDY . AC. BDMETF L0, SERABW Y &. EO0E=3cm, WAD
1y K A& cm.
A D
%
B %

16. 4o, #EMAB1C1D189@ARAL, WURZFEZEEA T 2AFEQAFA2B,CrDH, BINKRZFEE
V93] H5A5,B,CoD> W9 3 F & AF B W34 F5A3B3C3D5, WRL K3, KW #A,B,C,D, ) & F2

=, BEE (XKM9 )4, £66%5)
17. #4H: V27 X \/%—(\Fmﬁ)(ﬁ—ﬁ)

18. RtAABCH ., ZACB=90°, AC=2V2¢m, BC=V 10em, ¥ABLE#EHCD¥ .
B

19. E4n: OHLEFABCDIT A &89 &, DE/AC, CE//BD. X)W v9ill # OCED® 75 3%
F A E .
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20. HH: (Va+vV 12)2-2V3)~(V3-V2)2.

21. e/, WAHABCDY, AB=3cm, BC=4cm, CD=12cm, DA=13cm, H ZABC=90°. K%
A F5ABCD &9 vy A2

D

22. T4 wl®, E. FRFTWAMABCDHIST A RAC L P &, AE=CF.
Kik: (DAADF=/\CBE;
(2)EB// DF.

93. 4o, RIAABCY, £C=90°, AC=V3+V 2, BC=V3-V 2.
K: (D)RIAABCH) 2 ;
()41 AB# £ .
B

C A

24, E4na. by cithZ(a=3)2+V b—4 +le-51=0.
K: (Dav by c®91E;
()X ) has by cHARTMREAT? ZRMRZAH, KHZABGEAK, L1k
MR =AR, FHAESR.
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25. ERINABCY, ZBAC=90°, DABCH Y &, ERADW P &, i SAVFAF/ BCXBE#® &K
% T =F.
(1):KiE: AAEF=ADEB;
(2)IEBA YA FSADCEF 7 % F5
(3)&FAC=4, AB=5, KEMADCF& @R,

4/ 4


http://www.tcpdf.org

